log (T*) LABJNDuUS5 triangle lightness T*

T* Y=L w nc=100,

T*L aBanbus =[IN[A 1n+A2Y)I/(A 20A0n)] (Yn/100<Y<=Y,c)
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YacmL*w  nc=100,

T*LaBanDus =[N[A 10+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsyY)  A4=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
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dY/Y=Aga[A1,+A2YIY
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(dY/Y)g=0,0101, A =0 ,Ag 0, 0
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C,=(Y/AY)

LABJINDu5
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Yad/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]
(Y/dYh=111,31, A,=1,500, ¢=1,00
(o]
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(Y/dY)g=98,84, A=0,017, A,=0,0058
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log (T*/T* ) LA?JNDUS relz_itive triangle lightness T*/T*

T*/T*u YocmL*w nc=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A20A0n)] (Ynd/100<Y<=Y,c)
T#N(3,6)=146 T ,(18)=332.T*y(90)=517
T*odT*,=1,55, Apr=L,500, ¢=1,00
T 9,017, Ar=0,0058
T* dT* =0, 43 T, _332 ,22 Y1
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tristimulus value difference

Yne=L*w ne=100,
T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,c)
AYIY,=Ag A +AgYI/dY,

dYog/dY,=4.43, A=1.500, ¢=1.0

Y, g/dY, =0,017, ! 058
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log(A Y/AY i)
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T*,=332, dY,=0,18 dY_/Y,=0, (‘;(‘; 2

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDUS =[IN[(A 10+A2nY)J(A 2nA0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Y)g/(dY/Y)=0,88, Ay=1,500, ¢=1,00
(YY) g/(dY/Y=1,00. An=0.017, A,=0,0058
(dY/Y%i;(dY/YE 56 ¢1H_1& dy= 58
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log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganbus =[IN[A 1n+A2nY)V(A 20A0n)] (Yn/100<Y<=Y,c)

(YVIAYY(YIAY), =Y IYIAY Y )TA onAgrAgr VY (YIAY),
(YIdYg/(Y/dY)=1,12, Ay=1,500, ¢=1,00
(Y/dY)g/(Y/dY)=L.00. An=0.017, A,=0,0058
(Y/dnge/(Y/dY =0,64 Y,=18, dY=0.18
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